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R et e P PN T
PART -III

suenflas senfllgd wHnib Yemefluflwieo
BUSINESS MATHEMATICS AND STATISTICS
(50D wHmib hmde el / Tamil & English Version)

sre =iera] : 3.00 wewtl CHyw ] [ Qurss wHLQueansar : 90

Time Allowed : 3.00 Hours ] [Maximum Marks : 90

SiMleyenrser : (1) Sieeansg alemmssEnb Filurs udeurd o sTarsr erausmen SHUMTSSIS
Qamrererayh. SFaLLS GeonuilmLnder <enps samsrestiuiuTaTiiib
2  engungsd CQgfeflssHab.

(2) Beob ez smUy owvllear wLLECL TEsasHGED.
35 5CaryBausnHEb vwaTuBss CaiaTb. LULRISET uarausdHE
Cuendley vwetuBSSayD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@ES - 1/ PART -1
@Hoy : (i) Siemengg) dlamésEnsEn e wallEsan. 20x1=20
(iiy QsrpéasuulBdarer mrem@ wrpn dleorselld Wasayd gHyaLw
ellenonwig Canps®sas @il Hren el wenany Caigg srepsayb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer,
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1L (x—2y) eremugan efiflafled, x° eremmug) ergsemamureug) emiiy ?
(@) 308  (mp)ae (&) 5% () 6%¢
The term containing x® in the expansion of (x—2y)” is :
(a) 3rd (b) 4th (c) 5th (d) gth

2. cos(—480°) -en wHLiy

1 =1
(<) V3 () = @) 3 (m 5
The value of cos(—480°) is .
-3 1 -1
@ 3 ® — © 3 d -
3. 7% 875@ e T 80 -5@ eurhudleanmsh |HlenL &G aiporeand aigb
(1) 9% (<=4,) 8.75% (@) 8% (FF) 7%
The % of income on 7% stock at ¥ 80 is ¢
@ 9% b) 8.75% ) 8% d 7%
4.  cos?45°—sin?45° -en W&l :
3 1 3
(o) 2 (@) @) o ™ T
The value of cos245° —sin?45° is :
3 1 =
@ 2 ® 3 © 0 @ 7

5. @) wrlsefler wHiser arfligdensuiled pa(mHd erafled, @L(Hpey
(31) erdlflenL (=) CrflenL
(8) epu@wure Gpfla (7) @LODY Gerenio

If the values of two variables move in opposite direction, then the correlation is said to be

(a) Negative (b) Positive
(c) Perfect positive (d) No correlation
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1 2 3 312
2 31 2 31
(=) A (=) —A () 34 () —3A
1 2 3 31 2
If A=3 1 2/ then |1 2 3| is
2 31 2 31
(@ A (b) -A (c) 3A (d) —3A

2x +y=<20, x+2y=<20, x>0, y>0 eTam S=HULUTH&EHEG Qe z=x+3y erenm
G&D&ECarer grmler B&Hm wly : |j9

(21) 10 (<) 20 (&) o (F) S

The minimum value of the objective function z=x +3y subject to the constraints 2x +y=20,
x+2y<20,x>0and y > 0is:

(a) 10 (b) 20 () 0 (d 5

lim tand _
8—-0 g ot

(1) 1 (<) e (&) —e (rr) 8

Jim tanf _
6—0 0 -

(a) 1 (b) () - d) o

wrepCarmb QegiEsudh Hoowrar seumer LRELHS Asras T 2,000 -&G
10% sal_ () euliguled sHGurensws UL

(<) T 2,40,000 (<) T 6,00,000 () T 20,40,000  (rF) T 2,00,400

The present value of the perpetual annuity of ¥ 2,000 paid monthly at 10% compound interest
is .

(@) ¥ 240,000 (b) % 6,00,000 (¢) ¥ 20,40,000 (d) T 2,00,400
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5 5 5
10. |4y 4] g oy
—a3x =3y —3z
(=4) 5 (<) 4 (&) o () =3
5 5 5 %

The value of | ¥ 4y 4z|.g
—3x -3y -3z

@@ 35 (b) 4 © O (d -3

11, y= —x eTemn UFeuaneTSS 6o @mégﬁ;muuﬂrﬁn FwesT(®

(1) 4x+1=0 (<) 4x—1=0 (®) x—4=0 (FF) x+4=0
The equation of directrix of the parabola y>= —x is
(a) 4x+1=0 (b) 4x-1=0 () x—4=0 (d x+4=0
2 el Ju | ;
12, y=¢* erefled, =7 -ar Al
(31) 2xe* (=) o (8) 20%° () 0

2 du
If u=e*, then I is equal to :

@) 2yt (b) ¥ (© 2% (d) 0

o B S
13, OeucuCGoumy Glowdsmismer o el w 9 Q&g orer s oflcr Qurss orem aniléen
&

(<24) 10! (=24,) 9! (&) 9x9! (FF) 10x10!

T'he total number of 9 digit numbers which have all different digits is

(@) 10! b) 9 ‘
(b) 9 () 9x91 (d) 10x101
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Qsriyl Cursgs Car@adr Qeuligstamdm@nd Lerefl

(1) X Y) (<) (X, Y) () ©.0

The lines of regression intersect at the point

(@ XY) ® (XY © (00

2,3, 4 pfu erarsaflen Qenssaymef

(=) T ()12 @ =

The harmonic mean of the numbers 2, 3, 4 i

36
@ 1 ®) 12 )

|

fix) =sinx erémp arimen BUCL@® wHUUTES

1
(1) 1 (<) "‘?‘ (&) 75

The maximum value of f(x)=sinx is

(a) 1 (b) — (c)

Sl

W2 4y2—2x+2y—9=0 cranp L gdlen eoowid

(24) (1 1) (&) (-1, —1)
(@) (-1 1) () (L -1
The centre of the circle X2+ y?=2x+2y—=9=01is _

(@) (L1 by (-1 -1
(© (=11 (d) (1, -1

(/) (92 0y)

(d)

()

(d)

(%F)

(d)

(0x,0y)

13
36

13
36

ol

ol L
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18. &Cp Qsr@sstiul_Herer cumallaTa@l&EGs STeysEasns UTes

(4)1-2-4-5 (<24)1-3-5 (@) 1-2-3-5 (F) 1-2-3-4-5

The critical path of the following network is

(a) 1-2-4-5 (b) 1-3-5 € 1-2-3-5 (d) 1-2-3-4-5

19. A, Beranp Hlapeidr @geaophsul sib gCaaib G Hapay Emu@u@mgﬁ)eswm

Poppoo
(<21) P(A UB) (<2) P(A N B) (8) P(A/B) (m) (AuB)
Probability that at least any one of the events A, B occur is :

(a) P(A U B) (b) P(ANB) (c) P(A/B) d) (AuB)

20.  f(x)=|x| eretip miiGeh Basimy whHiiy =

(=21) 0 (<) =1 (®) +1 (F) —oo

The minimum value of this function f(x)= |x |is

@ 0 ®) -1 (€  +1 (). g

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

7 8167
u@d - 11/ PART - 1I

EH0y : emalugin gy Sanss@sg daorwdssan. eflemn ereir 30 -5¢5

sl ruwes S wefissan. 7x2=14

Noke @ Answer any seven questions. Question No. 30 is compulsory.

-
21. z = {ax+b} (cv+d) v&fld, == wLHOL

3 cTenuaaUDenDs ST,
X

¥

az
i z = {2z +b) fcy +d), then find 3 and

i

i1 2 4
2. whin; arars %—l 3 0
s 1 0]
i1 2 4,
fosleate - 1~1 3 O
i 1 0

23 seismar Y, whpb el u CeislasGagiis e iuc. Caranjmss andns.
Find the angle between the lines whose slopes are 1/2’_, and 3,

34 71w whluFw 75 wheen T 120046 sdwgy T 100 wliGuda 8% uki@sa
7155 b, Gebpw op Fpps gpdl 7
Wharh: is bester prrvestonerst 7 7% of T 100 shages at T 120 (ur) B% of T 100 shares at T 135
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25. 2+y2=25 arenm QUL GG FIneRTIEG SFLoETUT(HSmETS & TGS

Find the parametric equations of the circle x2+y?=25.

% _ %
; . lim x° —a’®
26. wWHULEABS @ 15, 5

lim 2% — alk

Evaluate : =7 2/
x—a xZ/3 _ a%’

27. SpssaL GRHloas@rss ghu «aumsuu.@wuu UMTUL NS U,
A<D,E B,D<F, C<Guwpm B<H
Construct a network diagram for the following situation :

A<D,E B,D<F, C<Gand B<H

28. wdluL srews : sin(—105°)

Find the value of sin(—105°)

3 . . 1.\
29. pAy== == : ' '
P(A) = LOMILD P(B) - oreus. A, B eremtuer &mypm B&weyger erefled, P(A A B) -m&

SITGHTS,.

. 3 :
Let P(A) = E and P(B) = -. Find P(A N B) if A and B are

Ut =

independent eventg

30.  pfle ssrmhHude ‘CHAT GTEND QU angud) e STD & et
' &t s,
Find the rank of the

word ‘CHAT’ in English dictionary.,
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u@&S - I/ PART - III

GO : eTemeuCuenbd aup NamésEnsE Ve weaflssayb. ellam, eram 40 -5

sLLmuwons eflenwell&sa|ib. 7x3=21

Note : Answer any seven questions. Question No. 40 is compulsory.

31. 2x+y—1=0, x+2y—5=0 erenp slssafl swarLTRamars CararL Qe Criré
Car@safen @mmbaaThs FLGUNLIG S &HTENs. '

Find the combined equation of the given pair of straight lines whose separate equations are
2x+y—1=0 and x+2y—5=0.

=354-, 1=p=<5 erenp Gaemeud sMTLEES, Gg,DaJ Qpdp&sledws srans.

p

32. <X

For the demand function x=2=, 1<p<5, determine the elasticity of demand.

Ol B

33. Griory siefl eplie Siés :
2x+5y=1, 3x+2y=7.

Solve by using matrix inversion method : 2x+5y=1, 3x+2y=7.

34, Qan@ésliul@erer eflaurhsErsd Qp Q; Dg opmid Py Spdwueibens sremrs.

uréj@&;mﬂén 3{ema] 4 4.5 5 5.5 6 6.5 7 75 8

Qe 10| 1822|254 | 15| 10| 8 7

Find Q;, Q;, Dg and Pg; of the following data :

Size of Shares 4 4.5 5 551 6 6.5 7 7.5 8

Frequency 10 18 22 25 40 15 10 8 7
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35. spGur@sw wHlurer T 30,000 -Hangs Qsran® qabeun s Senywra (s h
Brpsr seueans Qarenswns 675 - QupeusnHsTer e ey cissamss sramns.

Find the annual rate of interest, to get a perpetuity of T 675 for every half yearly from the
present value of ¥ 30,000.

36. nP,=1680, nC, =70 erefléd. n wpmib r -6 wHlierus srers.
If nP, =1680 and nC, =70, find the value of n and r.
37.

. . ol ot d g
deraumb geoamueg ST, a% STERTS.
x=logt, y=sint

. dy |:|
Find e of the following function :

x=logt, y=sint

38. Gemaumb elauriismens Caram® em ausmawewblieL 2 (HUMTEGHS.

Qswie A B C D E F G H
Develop a network based on the following information :
Activity A B D E F G H
Immediate Predecessor - - A | B

O

o
n
o
rm
vy

39. Epssdm HAC

ananblls sniany Qumsad aigeld DAl erapgs
€os20° ~ cps30°
Convert the following into the product of trigonometric

function -
COs20° — cos3()° |
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40. &pasani eflamaErse@ elOpas Qaqpmas sarsdlHs.
Tay =120, £12=90, Ly?= 0640
From the following data, calculate the correlation coefficient,

Exy=120, £x2=100, Xy2 =640

uG$ - IV/ PART - IV
GDWOY @ Senengs HamasEnd@n el weflésean. 7x5=35

Note : Answer all the questions,

%l a a°
i
a1, () iii b b

T G S

= (a—b) (b—c) (c—a) erem ﬁg@m

=T
() Ganeumb Sauris@réd AM, GM wpmw HM Qe Guuearer Qgrirau
surmas
X 7 10 13 16 19 22 25 28
f 10 22 24 28 19 9 12 16
i} a al
(8) Evaluate 1 b b?| = (a=b) (b-c) (c~a).

1« c*

OR
{(b)  Verily the relationship among AM, GM and HM for the following data.

X 7 10 13 ﬁ: 19 | 22 25 28

1 1w | 22 | 20 | 28 | 19 9 12 | 16

R S

A
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42, (@) A erep Quirellen Gaaeu q=80=p2+5p,= pyp, erafled, p;=2 wHmib py=1

I’q I‘:q
et wHIUSEEES L LHDID Fy

P sranm LEd Cpdlpsflaanens srars.

D Gl

Q

A e——

() -2 8 uEE Geremigarma wirHmes.

(a)  The demand for a commodity A is q=80-p,2+5p,— p,p,. Find the partial elasticities

B Eq
Ep, and f;.: when p; =2, p,=1.

ot

(b) Resolve into partial fracion ——~
(x—=1)(x+2)2

43. f’é‘;\-ﬁ/ Im'}/”:(l"‘”}/}an Grébﬂﬂ), _q.}i = .Ii GF@T&& 5”!;@85
dx o )
2D G

() Sipasar Cpflwg 110 semsms (LPP) &iié:s.

¥, + 41, < 24, 2 ' X DMILL 2 ;
r‘ +41) .. 4, 342, = 21, x40y < 9 b Xy, Xy 20 erevm 5L_@uun@5@$@
gl 7=21 451, -ebt (BLGALIm wélienid srars,

(@) U ™ y'=(x+4 y)" 1 then show that ‘?/" =4 ,
[ 6P

OR
(b)  Solve the following LD,

M izep 7 =2y ;
axtmize Z=2x, 4 5x, subject to the

conditions x, + 4y, < 2.
S J Yo 5 24, 3x, + 1
X+ X5 = 9 and Xy, x5 20 l - i q‘l i s

= 21,
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44. (=) (0,0), (1, 2) wpopnd (2, 0) pPw yereflsmefen auflurss aaan eulgdlen
EWETUTL L& ST,
D& @ g

(«21) saunity wepudd Gaips®ssiuL sBusflul uig Gausmeawsefian
wHUG LU feva whpIb g0 eflenew ey Claunutiu (Hererg).

BHUGL UL L Qseey | 300 | 450 | 800 | 250 [ 500 | 975 | 475 | 400

273 | 486 | 734 | 297 | 631 | 872 | 396 | 457

280 Llaaay

suQwiBueralear g5 L Opays Qsupeimand sasdl(Hs.
(a) Find the equation of the circle passing through the points (0, 0), (1, 2) and (2, 0}.
OR

{b) A random sample of recent repair jobs was selected and estimated cost and actual cost
were recorded. ‘ ‘

Estimated Cost 300 | 450 | 800 | 250 | 500 | 975 | 475 | 400

Actual Cost 273 | 486 | 734 | 297 | 631 | 872 | 396 | 457

Calculate the value of Spearman’s correlation coefficient.

45. (=) g Quinmmenngnyg enwln9é Py opmib P, eremp G)m Agmfihsrenaser 2 drarar,
sepBlen Comes whmb aflty Heoapb (mumi Cargsalld) Spaimbd
2L eucnoTuile) Clam(Hésian_Hararg,.

e pugdlurent | g uCurdluGurt Gidlay e Qurds
Podp Caea o
lﬁl!ﬂﬁq P, P, ﬂ'mufﬁﬁ
P, 10 25 15 50
P, 20 30 10 ol

P -an @udls Caevaswneng) 35-6@b, Py-an Gmidlg Coenau 42 -& @b wrmibd
Gungy e pugdlaead gwmsd(e.

D @ gy

, !
(<2,) cos20° cosd()” cosb(” cosBO” =

T cTeat ;Qym&

{ Sy / Turn over
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(a) In an economy there are two industries P; and P,

and the following table gives the

supply and the demand position in crores of rupees.

Production Consumption Sector Final Gross
Sector ' Demand Output
Py P,
P, 10 25 15 50
P, 20 30 10 60

Determine the outputs when the final demand changes to 35 for P; and 42 for P,.

OR

1

(b) Prove that c0s20° cos40° cos60° cosS(]°:|= TP

(1) @@ HS Bm e e & el (HHS! @@Heu 16% eullg fgsHer T 7,00,000 -0
sLamsl Qupdprr. S QeIfsusHETE ST Sara] 15 au(HLEISeT
craflen, @eu@eumh LTS <SLTHUSHPID eul CFQESE Flg Wl oS
Qgrasuiemans STETS. [(1.0133)180=9.772]

3| DGl

(=) sefiss QETEGEEHHG LY

12423434+ +n(n+1)= ) (Simarsg neN) eran Hmes.

(a) A person has taken a loan of T 7,00,000 at 16% rate of interest from a finance company.
If the repayment period is of 15 years then find the installment he has to pay at tl;e
beginning of each month. [(1.0133)180=9.772]

OR

(b) By the principle of Mathematical Induction,

prove that 12423434+ +nn+1)= ROEDOTD ey nen
: .
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() y2—8y—8x+24=0 eranip LFeuemeTWSH 6T e, GeAwib, Di&sH, Q@G
wHMID CQscuausagder Harbd yHwcupans srems.

S DG

(<) @@ HLLsHenr QFLDSEHD DAUDNIEHTET ST S{6T6| & (@5LD (‘r_r;rn_esaﬂa))
Qemaud il L euemanriiled GlasrhHi&siu(Harens).

QEwe 1-2 1-3 2-3 2-4 3-4 3-5 4-5
FHTE S| 6T6 5 8 6 7 5 4 8
GspaTar euam@WEDLIL auanrs. GLaiD eTeer S L QeugIsGL pheg

Q&5 sreb (EST), (phesw pgp|srew (EFT), slusHW QAFTL &S STeLD
(LST) wpmib s8uSHW wpiye sred (EFT) STETS. ST @ 2 Hhd LTSI,
U LD (PplgeUeL Il ZhGD SETOSMSID ST,

(a) Find the vertex, focus, axis, directrix and the length of latus rectum of the parabola
y2—8y—8x+24=0.

OR

(b) The following table gives the activities of a project and their duration in days.

Activity 1-2 1-3 2-3 2-4 3-4 3-5 4-5
5 8 6 % 5 4 8

Duration

Construct the network and calculate the earliest start time, earliest finish time, latest
start time and latest finish time of each activity and determine the critical path of the

project and duration to complete the project.

-000-
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